
Blix VIP Section 
 

Compatibility: 

 
The Blix VIP section is designed for the Blix Packa. 
 

Hardware:  

 
4 x M5 30mm Socket Bolt (A) 
8 x M5 12mm Socket Bolt (B) 
12 x Washer (C) 
 

 
 
 
 
 
 
 



 

Tools Required: 

3mm Allen Key (D) 
4mm Allen Key (E) 
 

 
 
 



 

 

 

 

Instructions:  

 
1. Remove the Bamboo Plate:​ Remove the bamboo board from your Packa’s rear rack by 

unscrewing the six bolts with your 3mm Allen Key (D).  

 
 
 



 
2. Connect the VIP Section to the Rack:​ Place the VIP section on the rear rack, lining up 

the four holes of the VIP Section with those on the rack rack. Insert the four 30mm M5 
bolts (A) in the four holes, using one washer (C) on each bolt, and screw in each bolt 
evenly, using the 4mm Allen Key (E). 
 

 
 

3. Screw In the Water Bottle Bolts:​ Insert the eight 12mm M5 bolts (B) in each of the 
eight water bottle bosses, using one washer (C) each, and screw in each bolt using the 
4mm Allen Key (E). These bolts can be used to attach water bottle cages or other 
accessories to the sides of the VIP Sections! 

 



 
 


